Multiplicacion por Celosia (C)

Use la multiplicacion por celosia para hallar cada producto.

2 1 0 2 5.1 9 5
3 5
5 2
8 8
9 5
9 2

2102 x 35899 = 5195 x 52852 =

5 1 9 9 7 4 5 9

1 5
3 2
6 7
2 7
8 3

5199 x 13628 = 7459 x 52773 =
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Multiplicacion por Celosia (C) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

2 1 0 2 5 1 9 5

0 0 0 0 3 2 0 4 2 5
0 6 3 0 6 2 5 5 5 5

1 0 0 1 5 1 0 1 1 )
7 0 5 0 0 7 0 2 8 0

1 0 0 1 8 4 0 7 4 8
5 6 8 0 6 4 0 8 2 0

| 0 0 1 9 2 0 4 2 5
4 8 9 0 8 5 5 5 5 5

] 0 0 1 9 ] 0 ] 1 o)
5 8 9 0 8 6 0 2 8 0

9 6 9 8 6 ] 4 0

2102 x 35899 = 75,459, 698 5195 x 52852 = 274566, 140
5 1 9 9 7 4 5 9

0 0 0 0 1 3 2 2 4 5
0 5 1 9 9 3 5 0 5 5

1 0 2 2 3 1 0 1 1 )
7 5 3 7 7 9 4 8 0 8

3 0 5 5 6 4 2 3 6 7
0 0 6 4 4 3 9 8 5 3

] 0 1 1 ) 4 2 3 6 7
8 0 2 8 8 6 9 8 5 3

4 0 7 7 3 2 ] ] 2 3
5 0 8 2 2 3 ] 2 5 7

1 9 7 2 3 8 0 7

5199 x 13628 = 70,851,972 7459 x 52773 = 393,633,807
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